APXH Inc SEAIAAS

KENTPIKH EIIITPOIIH EIAIKQN MAOHMATQN
ITAPAXKEYH 18 IOYNIOY 2004
KOINH EEETAYXH OAQN TQN YIIOWH®PIQN
YXTA ATTAIKA

A. Noa oamodwoete o010 TETPAOLEO OO0C OTNV EAANVLIRY
YAOOOoO TO TOQARATW REILUEVO, TEOOOIOOVTAC TOV TN UOQPN
ntov Ba émpeme va €yel, av emEOxELTO vo Onuooievlel oe
eEAAN VIS €vTUTO:

Not so long ago there was an equal balance of men and
women in Professor Phillip Brown’s sociology classes. Now
there isn’t. In a recent lecture there were just five men in the
group of 50 he was teaching. And it’s not just sociology.
Throughout the UK higher education system, women are the
dominant number while men are disappearing like flies before
a thunderstorm.

Driven by success at school, girls are going into higher
education in ever increasing numbers. Over the last decade
more than 70% of the increase in undergraduates in the UK
has been female. It’s not just school leavers who are skewing*
the balance. Women in their 30s are also applying to be
admitted as mature students.

Brown is co-author of a controversial book which argues
that the need for graduate workers is not as great as the
government predicts and that too many employers are asking
for graduate skills they don’t need. He believes middle-class
boys are as interested in going to university as they ever were,
but that working-class boys continue to be as uninterested as
ever. The shift is occurring as a result of working-class girls
and women seeking higher qualifications, because more jobs
need credentials®, thereby increasing the gender gap.

Education Guardian Weekly, May 18, 2004

(25 points)
*to skew = avatpémm
*credential = amwdOelEN YVOOEWV/OLATLOTEVTNOLO
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No oamavinoete o010 TETPAOLO OOC OTO AYYALRA OTLS
TOQUAXRATW EQWTNOELC:

Give a title to the above text.

(4 points)
Rephrase the following. (Do not use the same words from
the original) :
"The shift is occurring as a result of working-class girls
and women seeking higher qualifications, because more
jobs need credentials, thereby increasing the gender gap".

(6 points)
......... men are disappearing like flies before a
thunderstorm.
Why do you think the author uses this simile ? (about 30
words). (5 points)

Why do you think a school leaver may not be interested in
going into higher education ? Write a short paragraph
giving at least four reasons. (Not more than 50 words).

(5 points)
In a short paragraph give at least three factors which may
determine the choice of a job. (Not more than 50 words).

(6 points)
What other factors besides a university degree guarantee a
successful career ? In a short paragraph write at least four
other factors. (Not more than 50 words).

(4 points)

Na yodyete neiuevo 180 - 200 A€Eewv ue BEua:
Reality show wupon reality show appear on many TV
channels. Write an essay discussing the reasons why more

and more young people participate in reality shows.
(45 points)
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OAHTI'IEX
No 06000Uv amaviqoelg oe Ola 1o Cntiuata. KdéOe
ATAVINOY TOV RAAVTTEL EVVOLOAOYLRA %Ol YAWOOLXE TO
Intuata eival amwodernTy.
Ta Béuata xar ot odnylec Ba avamapaybBovv xzar Oa
draveunBovv otovg vroyYynerove. Aev Ba expwvnbouvv xal
dev Ba yoa@ovv oToV mivVaxa.
Ta Oépoato (ayyhnd ®el{uevo - coWTHOELS OTA AYYALRE -
Déua «Exnbeonc» ota ayyhird) dev Ba aviiypagoUv OTO
TETOAdL0.
No un puetagpoaotetr o TITAOC %Ol 1 MUEQOUNVIA TOV
EVTUTOV.
Na un uetageaotovv T VLo ovouoTa.
OL vroynlror Ba EeMLOTEEYPOUYV TIC QWOTOTUTIEC TWV
BendTmv ®OTA TNV ATOYXWMENON TOVS OTOVS EMLTNENTES, OL
omoloL ®ol Ba TIC XATAOCTOEYOUV.
AvGorera eE€taong : Toewg (3) doec.
‘Evap&n xoovov eEétaoncg : Auéomwg uetd tn dtavoun tTmv
PWTOTVITLOYV CTOVS VITOYPNPLOVC.
Avvatdtnta amoywonons: Mia (1) doo uetd tnv €vopE&y
TOoV YoO0vov eE€Taonc.
H diudprera eE€taong vat o xp0vog dVVATNG ATOYDOENONG
VO YOO (OUV OTOV TIVAXQ.
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